Software Engineering

Multiple Choice Questions & Answers:-

1.Identify, from among the following, the correct statement.

(a) One of the main challenges Software Engineering facing today is the requirement of most software
systems to work with a multitude of homogenous systems

(b) ‘Legacy systems’ are custom developed software systems for the legal domain

®
(c) Software does not wear-out in the traditional sense of the term, but softwa es tend
deteriorate as it evolves
(d) Since software is essentially ‘intangible’ it is relatively easy to manag re projects
(e) With the advent of component based software assembly, we fidd that o ss than 20% of today’s

software is still custom built.
Answer : C ]

Reason: Remaining all are contradictory. ®

2.Software Engineering:

®
(a) Is a set of rules about developing softwarefproducts
(b) Has been around as a i ince®he early 50’s

(c) Started as a respafise to t alled ‘Software Crisis’ of the late 90’s

(d) Is an engine e concerned with all the aspects of software production

(e) Is now a ipline on par with other established engineering fields.

Answer :

ReasomySoftware crisis of the late 60’s .

3.Read the following paragraph and identify the correct statement.

“Imagine that you were recently hired as a software engineer to a company that specializes in aircraft
navigation control software. While orientating yourselves to the company’s work practices, you observe
that they in fact do not conduct a few tests that they should in order to comply with the relevant safety



standard. When you inquire about this from the project manager, he dismisses it saying that those tests
are really unnecessary (and takes an unreasonably long time to conduct, as well as being superfluous)
and that they have managed with the other tests for so long, without any problems.”

(a) You should immediately resign from the company and file a complaint with the relevant standard
institution

(b) You should do nothing and let the matter slide

(c) Although you are new to the company, and you hardly know anything about the internal progesses

and politics, you should insist on the company changing its work practices immediately;¥ailing whigh you
threaten to report the matter ®
(d) Since you are new to the company, and you are unfamiliar with the internal p nd politics,

you should first find-out more about the issue and its background

(e) None of the above statements are correct.

®
Answer : (d)
Reason: D is the appropriate choice. A
®
4. With regard to Evolutionary development; ify thgc rrect statement.

(a) Evolutionary development usually @omes in two flavors; exploratory development, and throw-away
prototyping

(b) Very large projects are natur andidites for an evolutionary development based approach

(c) Exploratory developme in situations where most of the requirements are well understood in
advance

(d) One of the,st ts'of evolutionary development is that it facilitates easy project management,
through thelhig e of documentation it generates

(e) Ofte ction of a throw-away prototype is not followed by a reimplementation of the
ore structured approach.

Answer :

Reason: Evolutionary development usually comes in two flavors; exploratory development, and throw-
away prototyping is the correct statement with respect to Evolutionary development.

5.What is the fundamental reason that software cannot be considered to be engineered?



(a) It is designed by humans and therefore flawed

(b) Software engineering (as opposed to other forms of engineering, such as Civil) is an art —not a
science

(c) The discipline is relatively new, say in comparison to bridge building that is an activity that has
millennia of practice

(d) None of these are true. Software Engineering is a truly rigorous discipline

(e) The complexity of systems and their interaction continues faster than we can undefstand it.

®
Answer : (e)
Reason: The fundamental reason that software can not be considered to be engin the complexity
of systems and their interaction continues faster than we can understan
®
6.The software life cycle can be said to consist of a series o ses. ssical model is referred to as

the waterfall model. Which phase may be defined as “The cencept js@xplored and refined, and the
client’s requirements are elicited?”

®
(a) Requirements
(b) Specification ®
(c) Design

®
(d) Implementation
®
(e) Integration. Q
Answer : (a)

Reason: In equi ts phase the concept is explored and refined and the clients requirements are
elicited.

7.The Mdividual or organisation who wants a product to be developed is known as the:
(a) Developer

(b) User

(c) Contractor

(d) Initiator



(e) Client.
Answer : (e)

Reason: The individual or organisation who wants a product to be developed is known as the client.

8.Which of the following items should not be included in the software project management pfan?
(a) The techniques and case tools to be used
(b) Detailed schedules, budgets and resource allocations ®

(c) The life cycle model to be used

(d) The organisational structure of the development organisation, projec sibilities, managerial
objectives and priorities
®

(e) None of the above.
Answer : (e) ®
Reason: The software project management plan sh clude; the life cycle model to be used, the
organisational structure of the development organisatioh, project responsibilities, managerial objectives
and priorities, the life cycle model to be used, iled gchedules, budgets and resource allocations.
9.The final form of testing COTS softw@re i testing.
(a) Unit

®
(b) Integration
(c) Alpha
(d) Module
(e) Bet

Reason™Beta testing occurs when a commercial form of the software is released to selected clients.

10.In the maintenance phase the product must be tested against previous test cases. This is known as
testing.

(a) Unit



(b) Integration
(c) Regression
(d) Module
(e) Beta.
Answer : C

Reason: Regression testing occurs when the product is tested against previous test casgs. This t
frequently occurs in the maintenance phase.

®
11.Which property of the rapid prototype is not important?
(a) The speed with which it can be developed
(b) The speed with which it can be modified ¢
(c) Its ability to determine the client’s real needs ®
(d) The insights that the design team can gain from n if they are of the ‘how not to do it’ variety

(e) Its internal structure.

®

Answer : (c)
®

Reason: The sole use of the rapid prototype isitto determine what the client’s real needs are as rapidly as
possible. The rapid prototype_is thén eff%tively discarded so its internal structure is not relevant.

12.An example of the Hiskjinvolved in software development is
(a) Key personnel gn before the product is complete

(b) The turer of critical components (e.g. the hardware associated with a real-time system) may

(c) Technglogy changes may render the product obsolete

(d) Competitors may market a fully functional lower-cost equivalent package
(e) All of these are risks involved in software development.

Answer : (e)

Reason: There are many risks involved in software development.



13.A simple way of looking at the spiral software life-cycle model is as a waterfall model with each phase
proceeded by

(a) Build-and-fix

(b) Freezing

(c) Synchronization

(d) Testing \.
(e) Risk analysis.

Answer : (e)

Reason: A simple way of looking at the spiral software life-cycle m@dél is as a waterfall model with each
phase proceeded by risk analysis. ®

14.The degree of interaction between two module wn a
(a) Cohesion

(b) Strength

(c) Inheritance ®

(d) Coupling \ °

(e) Instantiation. Q

Answer : (d)

Reason: Th@'degreetef interaction between two modules is known as coupling.

15. ionship between a derived class (or subclass) and base class is referred to as
(a) Association
(b) Inheritance

(c) Polymorphism

(d) Instantiation



(e) Aggregation.
Answer : (b)

Reason: A derived class inherits all the attributes of a base class.

16.Myers (1978) identifies seven levels of cohesion. Which level of cohesion may be define followed;
“the output from one element in the component serves as input for some other element”?

(a) Communicational cohesion

(b) Functional cohesion

(c) Communicational cohesion

(d) Temporal cohesion

(e) None of these.

Answer : (a) ]

Reason: In communicational cohesion the output fr e elegnent in the component serves as input
for some other element.

®
17.A design is said to be a good designjif the rrﬂ)onents are
(a) Strongly coupled \ °
(b) Weakly cohesive
(c) Strongly coupled a eakly cohesive
(d) Stronglyfcoupledhandstrongly cohesive

(e) Stro sive and weakly coupled.

Reason: You should aim to maximize the interaction within a module and minimize the interaction

between modules.

18.1f a control switch is passed as an argument this is an example of coupling.

(a) Content



(b) Common
(c) Control
(d) Stamp
(e) Data.
Answer : (c)

Reason: Two modules are control coupled if one passes an element of control to another.

19.Which of the following is a type of abstraction?

(a) Data

(b) Procedural

(c) Iteration

(d) All of the above

(e) None of the above.

Answer : (d) ®

Reason: The three types of abstractiof (d ragedural and iteration) are all instances of the more
general concept of information hiding.

®

20.In the classical chi r team approach, the team member responsible for maintaining the

detailed design
(a) The chief’pro
(b) The ipg secretary
(c) iglized function that exists outside ‘the team’
(d) The individual coder (i.e. programmer)

(e) The back-up programmer.

Answer : (d)

Reason: In the classical chief programmer team approach, the team member responsible for maintaining
the detailed design and coding is the individual coder (i.e. programmer).



21.Internal costs include
(a) Developers salaries
(b) Managers and support personnel salaries

(c) The cost of overheads such as utilities, rent and senior managers

(d) Materials (such as manuals) and services such as travel
(e) All of the above. \Q

Answer : (a)

Reason: Internal costs comprise all the costs to the developers.

®
22.Problems with using Lines of Code to measure the size df a produc ude(s)
®
(a) The creation of source code is only part of the d me t

(b) The Lines of Code (LOC) will differ between danguagés and ?annot be measured for some languages
(c) Should comments, data definitions etc (i.e. exe@itable LOC) be included as well?
(d) The final size (kLOC) can only be deter d @nce the product is delivered
(e) All of the above.
®
Answer : (e)

Reason: There are m roblems with using Lines of Code to measure the size of a product.

ienc@bases its estimation of the size of a product on
ws (Fl) and Processes (Pr)

(b) Lines%ef Code (kLOC)

(c) Function Points (FP)

(d) operands and operators

(e) Feature Points (FeP).



23.
Answer : (d)

Reason: Software Science bases its estimation of the size of a product on the number of operands and
operators.

24.In Intermediate COCOMO the mode that represents complex products is referred to as

(a) Embedded \
°

(b) Semidetached
(c) Organic

(d) Multiplicative

®
(e) Monolithic.
Answer : (a) ®
Reason: In Intermediate COCOMO there are three organic, semidetached and imbedded.
®

25.Work that continues throughout th& project and does not relate to any specific phase of software
development is termed a(n)

®
(a) Milestone \ °

(b) Project function Q

(c) Activity

(d) Task

(e) Bas

Ans

Reason: Work that continues throughout the project and does not relate to any specific phase of

software development is termed a project function.

26.The advantage of following the IEEE Standard for drawing up a Software Project Management Plan
(SPMP) — see |IEEE Standard 1059.1 1987 —is



(a) It is drawn up by representatives from major software development organisations
(b) It is designed for all types of software products
(c) It is a framework that can be used irrespective of process model or specific techniques

(d) It can be tailored for each organisation for a particular application area, development team or
technique.

(e) All of the above.
Answer : (e)

Reason: There are many advantages of using a standard.

27.The best way to test the Software Project Management Plan (S ) is by
®

(a) Prototyping

(b) Inspection ®

(c) Simulation Q®

(d) Compilation

(e) Debugging.

®
Answer : (b)

Reason: The best way to tg
the SQA team. In order to duce risk the duration and cost estimates should further be
independently comp

28.Algasi i stimation in different organisations may be different for the same application
develop se

(a) D rganisations consider complexity factors differently

(b) Different organisations may use different programming languages
(c) Developers’ skills may vary

(d) Techniques for the measurement of productivity may vary

(e) All of the above may be true.



Answer : (e)

Reason: Cost estimation incorporates a number of factors.

29.The aim of software engineering is to produce software that is

(a) Fault-free

(b) Delivered on time

(c) Delivered within budget

(d) Satisfies users’ needs \‘
(e) All of these are the aims of software engineering.

Answer : (e)

Reason: The aim of software engineering is to produce software that is faultg e, delivered on time,
delivered within budget, and satisfies users’ needs.

®

30.0bject-oriented concepts are not new. The first guage was considered to be
(a) ALGOL-68
(b) FORTRAN 77

®
(c) C
(d) MODULA \ A
(e) SIMULA 67. Q
Answer : (e)

Reason: Thelfir guage was considered to be SIMULA 67.

31.Software®engineering is the systematic approach to the
(a)Development of software

(b)Operation of software

(c)Maintenance of software

(d)Retirement of software



(e)All of the above.
Answer : (e)

Reason: Software engineering is the systematic approach to the development of software , operation of
software , maintenance of software and retirement of software .

32.Brooks’ view of the essence of software included

(a)People, Quality, Process and Productivity

(b)Performance, Robustness, Maintainability and Reusability
(c)Complexity, Conformity, Changeability and Invisibility

(d)Efficiency, Reliability, Usability and Robustness

(e)Accuracy, Testability, Visibility and Changeability.

Answer : (c) ®

Reason: Brooks’ view of the essence of software inc Complexity, conformity, changeability
&invisibility.

33.What is the essence of software enginéer ?‘

(d)Managi
Useful

Reason: The essence of software engineering is managing complexity, personnel resources, time and
money and producing useful products.

34 Which of the following is a life-cycle concern?



(a)Testing
(b)Portability
(c)Programming
(d)Planning

(e)All of the above.

Answer : (d)

Reason: Planning is life-cycle concern. \Q

35.Which best captures the nature of the quality paradigm?
(a)The Nature of Quality, A Process Perspective, Defect Eliminatio

(b)Process, Product, People, Problem

(c)Measurement, Quality Control, Validation *
(d)Feasibility, Requirements, Economics, Customer’s ds ¢
(e)Analysis, Testing, Design. ®

Answer : (a) ®

Reason: Process perspective anth e ation best captures the quality paradigm.
®

36.Prototyping is app iate f

(a)Data-ori d ns

withlemphasis on the user interface
hich are highly interactive

ment teams who lack domain experience
(e)All of the above.

Answer : (e)

Reason: Prototyping seems appropriate for Data-oriented applications, Applications with emphasis on
the user interface, Applications which are highly interactive and Development teams who lack domain



experience

37.What are the major activities of the spiral model of software engineering?

(a)Planning, Risk Analysis, Engineering, Customer Evaluation

(b)Defining, Prototyping, Testing, Delivery

(c)Requirements

(d)Quick Design, Build Prototype, Evaluate Prototype, Refine Prototype \‘
(e)Testing.

Answer : (a)

Reason: Planning, risk analysis ,engineering and customer evaluation are th% portant four major
activities of the spiral model.

®
38.In choosing a development life-cycle model, one congider the
(a)Development Group Expertise, Problem teristicspUser Expectations

(b)Languages, Development SchedulefCompetition
®

(c)System Context, User Population, PI
(d)Organizational Structu S, Berformance Criteria

(e)System Analysis, esting.

Answer : (a)
Reason: Chgice apt among all the answers for choosing a development life cycle model.
39.What are*the factors to be considered when planning a software development effort?
(a)Performance, Problem, Product, Planning

(b)People, Problem, Product, Process

(c)People, Problem, Productivity, Performance

(d)People, Problem, Product, Portability



(e)Productivity, Programming, Performance, Pay-Off.
Answer : (b)

Reason: People, Problem, Product& Process factors are considered when planning a software
development effort.

40.Which of the following could be a deliverable for a software system?

(a)Source Code \
®

(b)Reference Manual

(c)Requirements Document

(d)User’s Guide

®

(e)All of the above.
Answer : (e) ®
Reason: Soruce code, reference manual ,requireme ument and user’s guide are the deliverables
for a software system.

®
41 Which of the following is not viewed a 'n%ry mover in improving the software process?
(a)Increased Effectiveness \ °
(b)Better Product QualityQ
(c)improved Staff Sati ion

(d)ReducedfCosts

eral control.

42.Symptoms of the software crisis would include
(a)Software delivered behind schedule
(b)Software exceeding cost estimate

(c)Unreliable



(d)Difficult to maintain
(e)All of the above.
Answer : (e)

Reason: When software delivered behind schedule, software exceeding cost estimate ,unreliable and
difficult to maintain then it is said that software crisis.

43 Which of the following projects would be a good one for adopting the prototyping pa igm’for
software development?

(a)Accounting System
(b)Spreadsheet
(c)Automobile Cruise Control ®
(d)Telephone Switching System
(e)Algebra Tutor.
®

Answer : (e)

Reason: Algebra Tutor would be a goo ndidate agoting the prototyping paradigm.

®
44 Views of quality software w OQ iaclude
(a)Optimizing price and pe
(b)Minimizing the exe n errors

(c)Conform@nce to Specification

(d)Esta i alid’requirements

Answer :

Reason: minimizing the execution errors would not included in views of quality software.

45.Software configuration activities would not include



(a)ldentify change

(b)Control change

(c)Ensure improper implementation of change
(d)Report change to interested parties

(e)All of the above.

Answer : (c)

Reason: Software configuration activities would include proper implementation of change. ®

46.In planning a software project one would
(a)Find ways to produce results using limited resources

(b)Pad the schedule to accommodate errors

®
(c)Overestimate the budget
- o ®
(d)Structure the team to prevent administrative,interfé€nce
(e)All of the above. ®
Answer : (a) ®

Reason: In planning a software p find ways to produce results using limited resources

ctl
J ‘
47.A systematic appr to software development, as epitomized by the various life-cycle models, is

useful in

(a)Helping Ws u stapd the nature of the software product

ustomer that we know what we are doing
(c)Filli on software engineering

(d)Managing the various activities necessary to get the job done
(e)Testing the entire project

Answer : (d)

Reason: A systematic approach to software development, as epitomized by the various life-cycle models,



is useful in managing the various activities necessary to get the job done.

48.A process view in software engineering would consider which of the following
(a)Product performance
(b)Staffing

(c)Functionality

(d)Reliability \s

(e)Usability.
Answer : (b)
Reason: Staffing is the apt choice among the given °
®

49.Software measurement is useful to

. . ®
(a)Indicate quality of the product
(b)Track progress ®
(c)Assess productivity ®
(d)Form a baseline for estimatio d prediction

®

(e)All of the above.
Answer : (e)
Reason: Software ment is useful to, indicate quality of the product , track progress, assess
productivitj\an baseline for estimation and prediction.
50.W he following is not a ‘concern’ during the management of a software project?
(a)Money
(b)Time

(c)Product quality

(d)Project/product information



(e)Product quantity.
Answer : (e)

Reason: Product quantity would not include during the management of a software project.

51.What would be investigated during Requirements analysis?

(a)System performance , Test Scheduling, Organizational Structure

(b)Languages , Platforms, Competition ®
(c)System Context , User Populations, User Tasks

(d)Verification, Formal Methods, Accuracy

(e)Validation, Informal methods, Inaccuracy. °
Answer : (c)
®

Reason: C is the right choice.

®
52.Which of the following is not a description o nniflg?
(a)Planning is used to find credible ways t dage results with limited resources and limited schedule
flexibility
(b)Planning is finding ne resdurces to support labor intensive development
(c)Planning is identif and modating the unforeseen
(d)Planningis b i e'efforts of many people to produce a product that satisfies the customer’s
need
(e)Plan i ting compromises in completion dates and resource allocation.

Reason: Planning is finding new personnel resources to support labor intensive development is not

descriptive of planning

53.The information we need to capture during requirements analysis not include

(a)Hiring Authority



(b)Communication Paths

(c)Synchronization

(d)Temporal Dependencies

(e)Data Aggregation.

Answer : (a)

Reason: The information we need to capture during requirements analysis would probably not iRglude

hiring Authority . .

54 What do you call when two modules are coupled, when they commusdicate via posite data
item?

(a)Content coupling ®
(b)Common coupling
(c)Control coupling
(d)Data coupling
®

(e)Stamp coupling.

Answer : (e) ®
Reason: Stamp coupling is tE:f wﬂw%modules are coupled if they communicate via composite data
item.

55.Which a g wihg measures how strongly the elements within a module are related?

(d)Inheritance

(e)Abstraction.
Answer : (b)

Reason: Cohesion measures how strongly the elements within a module are related.



56.What do you call, when the elements of a module, all operate on the same data?
(a)Functional cohesion

(b)Temporal cohesion

(c)Procedural cohesion

(d)Communicational cohesion

(e)Coincidental cohesion. \‘
Answer : (d)

Reason: when the elements of a module all operate on the same data w it)as a communicational
cohesion.

®
57 Which tests are designed to confront the program with allnorm $tuations?
(a)Recovery testing ®
(b)Security testing
(c)Stress testing
(d)Performance testing
(e)Usage testing. \ °
Answer : (c)

Reason: Stress issto'eonfront the program with abnormal situations.

5810 wh re category does Knowledge based system belongs?
(a)Sys tware

(b)Real time software

(c)Embedded software

(d)Personnel software

(e)Artificial Intelligent software.



Answer : (e)

Reason: Artificial Intelligent software belongs to knowledge based system.

59.Which is not involved in software development process?
(a)People

(b)Problem

(c)Practice \’
(d)Process
(e)Product.
Answer : (c)

Reason: practice is not involved in software development pfocess.

60.Which of the following are direct measures?
l. Size. ®
II. Effort. ®
. Schedule.
®
IV. Quality.

(a)Both (1) and (ll) ab

(b)Both (1) aner(l

Answer : (e)

Reason: size, effort, schedule and quality are the direct measures.



61.How does a software project manager need to act to minimize the risk of software failure?
(a)Double the project team size

(b)Request a large budget

(c)Form a small software team

(d)Track progress

(e)Request for more period of time.

Answer : (d) ®

Reason : a software project manager need to act to minimize the risk of softwar Tracking the
progress of software

®

62.To be an effective aid in process improvement the baseli etrigs,used must be
(a)Based on reasonable estimates from failed projects ®
(b)Measured consistently across projects ®
(c)Drawn from large projects only °
(d)Based only on successful projects

®
(e)Drawn from failed projects.
Answer : (b) ®
Reason : To be an eff@gtive ai ocess improvement the baseline metrics used must be Measured
consistently acrass pr
63.Emp imation models are typically based on

gment based on past project experiences
(b)Refinement of current project estimation

(c)Regression models derived from historical project data

(d)Trial and error determination of the parameters and coefficients

(e)Estimation of present data.



Answer : (c)

Reason : Empirical estimation models are typically based on Regression models derived from historical
project data.

64.Which of the following is not the guiding principle of software project scheduling?
(a)Compartmentalization
(b)Market assessment
®

(c)Time allocation
(d)Effort validation
(e)Interdependency.

®

Answer : (b)

Reason : Market Assessment is not one of the guiding principles of Brware project scheduling:

®
65.The tools for computing critical path an t com‘p tion times from activity networks is/are
I. CPM.
®
IIl. DRE.

IIl. FP. \ ®
V. PERT.

(a)Both (I) and ( 0

(b)Both (1) and e

(e)All (1), (1), (1) and (IV) above.
Answer : (b)

Reason : Two tools for computing critical path and project completion times from activity networks are
CPM &PERT



66.The purpose of earned value analysis is to

(a)Determine how to compensate developers based on their productivity

(b)Provide a quantitative means of assessing software project progress

(c)Provide a qualitative means of assessing software project progress

(d)Set the price point for a software product based on development effort

(e)Provide qualitative and quantitative measure of assesing software project progress. ®
Answer : (b)

Reason : The purpose of earned value analysis is to Provide a quantitativ of assessing software
project progress

67.The rapid application development model is ®
(a)Same as component-based development ®

(b)A useful approach when a customer can ine re.q rements clearly
(c)A high-speed adaptation of the line@r sequential Model

®
(d)Same as incremental model

(e)Same as water fall mo \ ®
Answer : (c)

Reason : Thera a development model is A high-speed adaptation of the linear sequential
model.

68. the following is not an objective for building analysis models?
(a)Define’set of software requirements that can be validated

(b)Describe customer requirements

(c)Develop a solution for the problem

(d)Establish basis for software design



(e)Define set of software requirements that can be verified.
Answer : (c)

Reason : Develop a solution for the problem is not an objective for building analysis models?

69.The entity relationship diagram

(a)Depicts relationships between data objects

(b)Depicts functions that transform the data flow \‘
(c)Indicates how data are transformed by the system

(d)Indicates system reactions to external events

(e)Depicts the physical design of the data. °
Answer : (a)
®
Reason : The entity relationship diagram depicts relagi@nship en data objects
®
70.Which of the following is not an area of con in tRe design model?

(a)Architecture

®
(b)Data design

®
(c)Interfaces design
(d)Project scope
(e)Modular @désig

Scope is not an area of concern in the design model

71.Couplimg is a qualitative indication of the degree to which a module
(a)Can be written more compactly
(b)Focuses on just one thing

(c)Is able to complete its function in a timely manner



(d)Is connected to other modules
(e)ls able to completed its logic in a timely manner.
Answer : (d)

Reason : Coupling is a qualitative indication of the degree to which a module is connected to other
modules.

72 Which of the following interface design principles reduces the user’s memory Ioad?\’

e. Define intuitive shortcuts

Il. Disclose information in a progressive fashion

[Il. Establish meaningful defaults

IV. Provide an on-line tutorial

(a)Only (1) above ®
(b)Only (I1) above ®
(c)Only (1l1) above

(d)(D), (11) and (111) above

(e)All (1), (1), (1) and (IV) above.

®

Answer : (d)

Reason : The followi efin ive shortcuts ,Disclose information in a progressive fashion, Establish

meaningful defaults i ce design principles reduces the user’s memory load

73.Blac tingls also called
(a) jon-based testing
(b)Structural testing
(c)Verification

(d)Unit testing

(e)Stress testing.



Answer : (a)

Reason : Black box testing is another name for Specification-based testing.

74 Which configuration objects would not typically be found in the project database?

(a)Design specification

(b)Marketing data

(c)Executable code \‘
(d)Test plans
(e)Test procedures.
Answer : (b)

®

Reason : Marketing data configuration objects would not typically be d in the project database
®

. . : @ .
75.Which of the following task(s) is/are not pargof so re configuration management?
e. Change control. ®
Il. Reporting. ®
[1l. Statistical quality control.

®

(a)Only (1) above

(b)Only (I1) above

(c)Only (111) ve

Reason : the following task Statistical quality control is not part of software configuration management

76.Which box specification is not associated with cleanroom approach?



(a)Black box
(b)Clear box
(c)State box
(d)White box

(e)Silver box.

Answer : (d)
Reason : White box specification is not associated with cleanroom approach \Q
77 Which of the following is not a logical layer of the application in client ystem?
(a)Presentation layer °
(b)Application layer
®
(c)Data Management layer
. ®
(d)Programming layer
(e)Business layer. ®
Answer : (d) ®
Reason : Programming is not a logi@al layerof the application in client server
®
system Q
78 Which o f is true for a thin-client?
(a)Proc plicavion logic

management task
(c)Placesteavy processing load on the server
(d)Makes use of processing power of the client

(e)Places heavy processing load on the client.

Answer : (c)



Reason : Places heavy processing load on the server

79.Traditionally, the phase of software development where a formal approach used is
(a)Programming

(b)Design

(c)Requirements
(d)Planning \Q
(e)Testing.

Answer : (a)

Reason : Traditionally, the only phase of software development where a forrn pproach is used is
Programming.

®

80.Domain Engineering in CBSE is to Q®
(a)ldentification of components
(b)Catalogue reusable components

®
(c)Domain modeling
(d)Structural modeling \ ®
(e)All the above.

Answer : (e)



